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'ENGINEERING & MANAGEMENT Mnorzs. JUNE - 2009
DATABASE MANAGEMENT SYSTEM-T
'SEMESTER - 2

Time : 3 Hours] | [ Full Marks : 70

. GROUP - A
( Multiple Choice Type Questions )

1. ‘Choos..e the correct alternatives fdrbthe following.: ' o 10x 1 =10
1) Wﬁat ig a fleld of data‘ that can be uﬁéd to locate a related field of record ?
a) Data type ' b) Pointer
c) | Chain , d) | None of these. [—__]
f)  Which one of the followi-ng is the example of Dynamic Hashing ?
a) Oi)en A&dresé Hashing '; b): Chain Hashing
c). '~ Linear Hashing | o d) ) All of these. ’ ]

f "

i) Which of the followinigﬂis a.n ‘a'ttrlbute: that holds multiple values for a single

entity ?
&)  Stmple 'b)  Composite . -
o Dertved ® d  Multi-valued. ]

)  Which of the following clauses can be present in an updatable view ?
a) Group By o R b)  Order By

c) Distinct ‘ d)  None of these. ]
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v)

vii)

What was the main drawback of the hierarchical model ?

a)  Lack of standardization b)  Poor performance

c) High cost d) None of these.

Which is another name for weak entity ?

a) Child b) Owner

c) Dominant d) All of these.
Which of the following is the type of metadata ?

a)  Operational b) EDW

c) Data mart d) All of these.
A-table can have only one

a) Primary key b) Alternate key

c¢) Candidate key d) none of these.

What is a set of possible data values called ?

a)  Degree b) Attribute

c¢) Domain d) Cardinality.
Relations produced from an E-R model will always be in

a) INF b) 2NF

c) 3NF d) 4NF.

| 2335 ( 11/06) |
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RS T Deﬁne ER model. What is an entity ? What do you mean by multi-yalued attribute ?
From the following informatiqn identlfy the,,entities. relationships.and draw the ER
diagram : |

‘A store has diffetent counters ’managed by diﬁ'erent employees. A counter has item
but no two counters have common items. Customers buy from different counters but
bills are pre;tsred at the bill counter only. Once in a month the performance of the
‘persons managing different counters are evaluated in terms of sale. Items are also

zgyiewcd and As’lowﬂrhoym_g‘}itemsare 1denttﬁed7’ 2+2+2+9
: 9. Answer as directed for the following :
| Hotel ( Huo_.Name,Address) Room ( Rno,Rtype,Hno,Price \)
Bookiug ( Hno.Qno;an.Dt__from.Dt_to )
Gucst ( Gno.GName,GAddress ) |

- a) Find the names of all guests who are staying in hotels either in .Kolkata or
Chennai,. [Relational Calculus]

t)) - Find the total number of guests in Hotel Taj. [ Tuple Relational Calculus ]
t:) - List the number of rooms in each hotel. | Domain Relational Calculus ]

| : d) | F‘md the room with the maximum price ( SQL )|

| \e) by Find the hotel with 2nd maximum no. of rooms. ( SQL ) 3+3+3+2+4

10 Write short note on any three of the followlng , ' 3x5
a) Mtﬂtiﬂ-level'index
 b) Aggregation in ER model

c) | Three ievel data abstraction

d)  DBMS architecture

e) f, Atomicity problem.

2328 (11/08) ]



| CS/MCA/SEM-2/MCA-204/09 5
| ' GROUP-B
@ - ( Short Answer Type Questions )
' ~ Answer any three of the following. ‘ 3x5=15
2.  Explain the three schema architecture.
3. Explain ‘generéllzatibn, spcclahzatioh and aggregation in Entity Relation Diagram.

v4. Consider the following table with théir functional dependenéies :

~Employee ‘( Enip‘_ld; Evmp_Name. Address, Design. Dept_Id, Dept_Name, Course,

Duration )
‘ Emp,_ld —-) Emp_Name, Address, Design, Dejpt_ld,"Course
‘Dept_Id — Dept_Name
¢oufse — Duration
Normaliée the table uptb BCNF.
5. Exbl‘ainktheA Query oi)ﬂn;izaﬁon technique with rt;,levant e#amplés.
6. | "erte dovs)nvtihe functions of a DBA. '
GROUP -
( Loﬁg Answer Type Quesdons )
Answer any three qf the following. ‘ 3x15=45

7. What is Normalization ? What is its use ? Compare between BCNF and 3rd Normal

form.
R=(A B C D E) F={A->BC,CD->E B->DE-A}
Show that it is lossless décomposition. ' : 2+3+4+6

| 2325 (11/08) |
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? -Establish the statement, "SQL is a relationally complete language Consider the

following schema of a relational database :

Sailors ( sid, sname, rating, age)

‘Reserves ( sid, bid, day)
Boats ( bid, bname, colour)

For each of the following queries write an -expression for Relational Algebra“OR

RS ikl ke S ot el ok sz e et e e g et A o

, Relational Calculus. ( any six)

)  Find the names of sailors who have reserved boat 103

b} - Find the names of satlors who have reserved a red boat. 2

e

c) Flnd the colour of | boats reserved by Biswarup.

- d) " Find tho names of saildrs who ha}v»e‘reserved at least one ‘boat.

< e) th\'ld the nameé of sailors who have rosorv'ed ared boat o’rb a green boat.
f) 'Fmd the names of oailofs who have reserved a red boét ond a green boat.
g Find the'names of sailot_sﬁrith aée over 20 who ho.ve oot reserved a red boat

£ o

h)  Find the names of sailors who have reserved all boats. 3+(2 xﬁ )

END

[2325(11/06)]






